Chapter 04

Probability

  
True / False Questions
1. Two events are independent if the probability of one event is influenced by whether or not the other event occurs. 
True    False
2. The probability of an event A is found by adding the probabilities of all the simple events contained in A. 
True    False

3. If events A and B are mutually exclusive, then P(A|B) is always equal to zero. 
True    False

4. If events A and B are independent, then P(A|B) is always equal to zero. 
True    False
Multiple Choice Questions
5. The set of all possible experimental outcomes is called a(n): 
A. Sample space
B. Event
C. Experiment
D. Probability
6. Probabilities must be assigned to experimental outcomes so that the probability assigned to each experimental outcome must be between ____ and ____ inclusive. 
A. 0; 100
B. -100; 100
C. 0; 1
D. -1; 1

7. What is the probability of at least one tail in the toss of three fair coins? 
A. 1/8
B. 4/8
C. 5/8
D. 7/8
E. 6/8
8. What is the probability of rolling a seven with a pair of fair dice? 
A. 6/36
B. 3/36
C. 1/36
D. 8/36
E. 7/36
9. A manager has just received the expense checks for six of her employees. She randomly distributes the checks to the six employees. What is the probability that exactly five of them will receive the correct checks (checks with the correct names)? 
A. 1
B. ½
C. 1/6
D. 0
E. 1/3
10. If P(A) > 0 and P(B) > 0 and events A and B are independent, then: 
A. P(A) = P(B)
B. P(A|B)=P(A)
C. P(A[image: image1.wmf]B) = 0
D. P(A[image: image2.wmf]B) = P(A) P(B[image: image3.wmf]A)
11. In which of the following are the two events A and B, always independent? 
A. A and B are mutually exclusive.
B. The probability of event A is not influenced by the probability of event B.
C. The intersection of A and B is zero.
D. P(A|B) = P(A).
E. B and D.

12. If two events are independent, we can _____ their probabilities to determine the intersection probability. 
A. Divide
B. Add
C. Multiply
D. Subtract
13. A(n) ____________ is the probability that one event will occur given that we know that another event already has occurred. 
A. Sample space outcome
B. Subjective Probability
C. Complement of events
D. Long-run relative frequency
E. Conditional probability
14. The probability of event A occurring given that event B has already occurred is 0.61. The probability of both events occurring is 0.5. What is the probability of event B occurring? 
A. 0.305
B. 0.195
C. 0.390
D. 0.820
E. 0.500

15. A pair of dice is thrown. What is the probability that one of the faces is a 3, given that the sum of the two faces is 9? 
A. 1/3
B. 1/36
C. 1/6
D. 1/2
E. 1/4
Short Answer Questions
16. If A and B are independent events, P(A) = 0.2, and P(B) = 0.7, determine P(A [image: image4.wmf] B) 
17. In a study of chain saw injuries, 57% involved arms or hands. If three different chain saw injury cases are randomly selected, find the probability that they all involved arms or hands? 

